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RiE 3 5 PROZ 5 2 3
7N - 10 8 FO&E 5 2 5
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~E 1 14 BRO1S 24 2 14
~E 1 3 202 5 2 15
~E 2 6 EOM 5 2 16
~E 2 12 EIO)=1 E°4 2 17
~E 2 15 HOZ 24 2 18
X 7T 1 19 ZROIE E°4 2 20
X 7T 1 21 &0z 4 2 21
X 7T 1 12 720E 5 2 22
X 7T 1 3 BROF® 5 2 23
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X 7T 11 4 1Ok 5 2 38
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X 7T 12 8 ATOf# = 3 5
X 7T 13 12 =0 5 3 6
X 7T 13 11 =0 = 3 7
X 7T 13 26 =0 E°4 3 8
X 7T 13 1 BROIE = 3 9
X 7T 13 17 HO0Z 24 3 10
X 7T 13 15 ROE 5 3 11
X 7T 13 5 ROl 5 3 12
X 7T 14 7 LO#&X 5 3 13
X 7T 14 18 o9 £°4 3 17
X 7T 2 1 ZO8 5 3 18
X 7T 2 19 EOR 24 3 20
X 7T 2 25 =08 E°4 3 21
X 7T 2 14 2O0#! 5 3 23
X 7T 2 10 7301% 5 3 24
X 7T 2 18 MO 24 3 25
X 7T 3 1 MOZ = 3 27
X 7T 5 8 BRO%m 5 3 31
X 7T 5 10 BROTT 5 3 32
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X 7T 5 14 BAO# 5 3 35
X 7T 6 20 MOZE 24 3 37
X 7T 7 16 HOR 5 4
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XiE 4 20 RO £4 6 4
XK@ 4 18 FOE £4 6 5
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Xim 4 12 BROZ 5 6 8
XK@ 4 8 IO 5 6 12
Xim 5 4 ERO 5 6 14
K& 5 5 Z0E Z 6 15
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IIA 1 7 RO= 5 6 19
IIA 1 4 ERO%k 5 6 21
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Z 2 11 MOAE 5 7 8
Z 3 24 ZFO:E £°4 7 9
Z 3 21 BRO#E 24 7 11
Z 3 22 O E°4 7 12
Z 3 18 E-{0):] 24 7 13
Z 4 3 FEHO= = 7 14
Z 4 8 ZFOEf 5 7 18
Z 5 8 FORE 5 7 19
Z 5 16 MO3F 24 7 20
Z 6 10 FOB = 7 23
Z 6 6 BRO# 5 7 24
Z 7 7 BROFX 5 7 31
Z 7 18 [0);7 24 7 32
Z 8 19 BROS 24 7 40
Z 8 17 BROTE 24 8 1
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FX I 1 9 =0X 5 8 9
FX I/ 2 9 =0F 5 8 14
I 2 10 EROfm 5 8 15
FaFrg 1 13 FFOi £°4 8 16
Ll 1 15 HOR 24 8 17
Ll 2 2 =07 5 8 20
7arg 2 11 =05 £°4 8 21
iz 1 6 ATOfd 5 8 22
i 1 14 #OF 5 8 23
i 1 9 AtOlg 5 8 24
i 1 5 2|0 5 8 25
i 1 7 5RORI 5 8 26
i 2 7 {0019 5 8 27
i 2 9 BROE 5 8 28
i 2 12 #o3a 24 8 29
i 4 13 ATOE E°4 8 32
i 5 4 103°4 5 8 34
i 5 9 KO&E 5 8 35
i 5 15 ZFOR 24 8 36
i 6 5 o= 5 9 1
R 1 14 HOR 5 9 5
B&R 1 23 EROHA 24 9 6
R 1 4 ZRORE 5 9 8
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B 3 12 BO% 5 10 13
B 3 15 ROIL 5 10 14
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= A/ 2 21 BEOYF 4 12 10
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B 7 4 EOfh 3] 14 25
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BER 10 4 R0~ 5 14 30
BR 6 11 O 5 14 33
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i F 2 19 RO%F £°4 15 38
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i 8 18 =0%& 4 16 31
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% F 8 21 RO#% 4 16 34
iz 8 9 5ROE&D 5 16 35
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BE 3 15 =0/ 24 17 2
BE 3 9 FO%E = 17 4
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#EE 2 7 B Ofize 5 17 28
#EER 2 16 R0# Z 17 33
4] 3 19 {HO%R 4 17 35
#EER 3 8 =08 5 17 38
4] 3 9 201E 3] 18 1
#EER 3 20 FOHF Z 18 3
4] 4 15 1HOM £4 18 4
e 4 13 MO 5 18 6
4] 4 14 OBz 3] 18 7
#EES 4 23 HOm Z 18 8
42 4 FROHT 3] 18 9
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7T 3 13 2=0%x Z 18 16
#=n 1 24 #H O Z 18 19
ZE 2 21 2035 Z 18 20
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29 3 4 sROZA 5 18 25
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i 2 9 BROE= 5 18 35
i 2 21 R0E 24 18 37
] 2 19 ATOR £°4 18 39
T 3 1 O 5 19 4
i 3 10 R0E = 19 7
T 3 5 =08 5 19 9
i 3 14 BROE = 19 10
T 3 3 BROFR 5 19 11
i 3 BROR = 19 12
T 4 10 FRO%KR 5 19 16
i 4 21 ZOE £°4 19 18
o7 B 1 9 BROFX 5 19 25
T 2 17 EOE £°4 19 28
o7 B 3 17 G 0)=] £°4 19 30
X 1 9 5[0)= = 19 34
=4 1 15 ~]0%% £°4 19 38
=3 1 8 MOm 5 20 1
=4 10 5 =0F 5 20 4
=3 10 24 EOiX 4 20 6
=4 10 26 BRO%E 24 20 8
=3 2 9 ZOEF 5 20 11
=4 2 15 RO 24 20 12
=3 2 11 HOBN 5 20 13
=k 2 6 FOE 5 20 14
=3 2 17 A0iH 24 20 15
=k 2 26 08 24 20 16
=3 2 24 ZhO3s 24 20 17
=k 2 3 [OlE 5 20 18
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g 2 27 Ot £°4 20 20
=3 3 10 MO&E 5 20 22
g 3 12 glox 5 20 24
S5 3 24 E2O%F E°4 20 26
g 3 6 =-{0) - = 20 27
S5 3 4 HO#& 5 20 28
=4 3 25 FOE £°4 20 29
S5 4 24 RO £°4 20 32
=4 4 16 FOuF £°4 20 33
=4 4 25 Ok 24 20 34
g 4 9 BROZR = 20 35
=2 4 6 FRO1E 5 20 36
g 4 17 ==OF | £°4 20 37
=2 4 7 Ot 5 20 39
g 4 5 5ROMS 5 20 40
=4 5 2 FOF 5 21 1
=3 5 1 BROIE = 21 2
=4 5 26 CI[O)= £°4 21 3
=3 5 22 =015 4 21 4
=4 5 7 HOEF 5 21 5
=3 5 17 EZOfR 4 21 7
=4 6 11 MOFF 5 21 12
=3 6 8 MOk = 21 13
=k 6 14 5RO3Z 24 21 14
=3 6 6 ZO1E = 21 15
=k 7 7 MOE 5 21 17
=3 7 9 H O = 21 21
=k 8 6 FO® 5 21 23
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g 8 3 BRO& 5 21 26
=3 8 18 MO 24 21 28
g 8 17 ZFO#H £°4 21 29
S5 9 3 B0 5 21 33
g 9 21 BRORE £°4 21 34
S5 9 17 BROEE £°4 21 35
g 9 9 0) = = 21 40
S5 9 8 ZRO1E 5 22 3
g 9 23 E0) £°4 22 4
Eit 1 17 205 £°4 22 7
Eit 1 12 RO = 22 8
Eit 1 22 MOF £°4 22 10
Eit 2 11 R0f&E = 22 13
Eit 2 14 RO0qE 5 22 14
Eit 3 17 =0k £°4 22 17
Eit 3 4 FO7* 5 22 19
Eit 3 1 B\OE = 22 20
Eit 3 10 EXO3Z 5 22 22
Eit 3 20 FO% 4 22 23
Eit 4 7 MO=F 5 22 24
Eit 4 20 Ot 4 22 25
Eit 4 14 EROR 5 22 26
Eit 4 17 FRO#E £°4 22 27
Eit 5 5 EROM 5 22 28
Eit 5 22 MO 24 22 31
Eit 6 3 O 4 5 22 34
Eit 6 20 BROZ 24 22 35
Eit 6 9 RO/ 5 22 37
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g 1 21 ZROE 5 23 2
B 1 34 HOE 24 23 3
g 1 38 O 5 23 4
=4 1 29 =08 5 23 5
g(_ 1 23 BRORE = 23 7
=4 1 12 MO&E £°4 23 8
g(_ 1 9 R0Z £°4 23 10
=4 1 37 &O&E 5 23 11
g(_ 1 1 EOR = 23 12
=4 2 24 sROIE 5 23 17
g(_ 2 13 MOF = 23 21
=4 2 21 BRO'IE 5 23 22
g(_ 2 7 O £°4 23 23
=4 3 24 BROZX 5 23 24
g 3 19 BRO £°4 23 26
=4 3 18 BRO £°4 23 27
B 3 14 HOT £°4 23 30
=4 3 36 EROI& £°4 23 31
B 4 31 EOH 4 23 33
=4 4 11 MO 5 23 34
B 4 12 MO = 23 35
=4 4 34 g0 5 23 40
B 4 19 Pi10) 2 = 24 1
R F 2 27 ROt 24 24 5
SE 3% 8 28 BRORE 24 24 6
A 4 4 ZFOE 5 24 7




